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2 SAS HiSoIE D, 20X DM S22 Alei3F JITH AOlA 8 %0IUCH. =2 2|Ms AJ| ZHE20
ESAIDIX 210 2SS 18AI2F SO 60 COHM =sHAIZCH. Z2E JIEF SHE &AW 142 SLotH 7 X
OIRCH YO& 2Z&o & Uz= 0.09 g/er0|RA D EHAES 655 m'/gOI ALk,
AJ Zile ¥2 25 ¥ 2 HUES A X4H=2=2 HXEot=l & gYHe dH=ES 55 A 8 =
2ot Ol28E = U2 HAIStLH.
<& AW 25>
A0 1022 2EH2 HAHE A2t2 HIAStD= BI=SHACH. A AACMA HEsSt 249 RAMUES
2 SHAS BHESI D, YOE DA 22 AlgIIF I AOA 10 %0IACH. =2 s2HE A ZAS0
ESAIDIX 210 22 18AI2F SO 60 COHM =sHAIZCH. Z2E JIEE SHE AW 142 SLotH 7/ X
OFYLE. YO& 2SZQ & A= 0.12 g/am0| YD) EHAME2 655 m /g0 A L.
AJ Zile ¥2 25 ¥ 2 HUES A XH=2=2 NXIot=l & 2YHe dH=ES 255 A 8 =
2IotA Ol2E = JUAS2 HAISCH
<A 26>
A0 1022 2H2 SHAHE A2 HQStD= BISSIRACH.  AJ] AAIHOAN HES 2o LHESES &
cIot DI AH0IA 12 %0IRUCH. I SHS &I A4S0 ZSAIIIX 22 A2 18AI2F SO 60 CTOHM
=HAZCH. 2E JIE HHE AW 142 SLotH SXAGHUCH. LHE S22 & U&= 0.15 g/om
OIUD EHAHE2 765 m /g0 UL,
AJ Zile ¥2 25 ¥ 2 HUES A X422 HXEot=l & 2Ye dHES 255 A 8 =
2ot Ol28E = JUAS2 HAISCH
<A 27>
AN 1022RH2 HHE U2tS HAStL=E EHOZ USSR, 2 AAWUA HES 29 7
AMUEE & SAS HIg6tD DM S22 5 %0l SAAIZCH. £&, &) 229 g4ds X&E5lH & 22
LE S48 = zBH2Z AZ MEAIZACH. OI0HA & SES clH2 AE & 20 W& A2t S
ot FAJIE ZAANZLH. 22 t-RE2= UMe = 22 -14 CTUHA 1 WX 28 SOt XI5 22 =
ZAZAC. SZE & 2o LURE 73T YU =10 =S8 2ES Sl AX ZAE SWUAIZLSEMN
HAEGIALCH
AHE SEQ| & U= 0.147 g/cm0| A L.
AD| 2= 2 ZYo HHE SZ2 AXY S K20 0l2E = JUAS2 MHAIStL.
AJ| AAIN 222l Z2UE o E 10l RLotRACEH.
Z /]

AAIN |HIRAAIN [& XHE2 % AXH AX Jls 823 9= ==

= =2% a/cc a/cc
1 - 5% (Si04CB) |t-BE= a3 0.10 NM
- 2 5% (Si0+CB) t—$'é+§* &3 0.35 NM
- 3 5% (Si0.+CB) |OIES &3 0.34 NM
- 4 5% (Si0+CB) |OtMIE a3 0.35 NM
- 5 5% (Si0+CB) |OlA-Z2E= N 0.32 NM
- 6 5% (Si0.#CB) |[t-RES =2 0.33 NM
- 7 5% (Si0.+CB) |OIES s 0.31 NM
- 8 5% (Si0+CB) |OIMIE = 0.29 NM
- 9 5% (Si0+CB) |OlA-Z2E= =2 0.30 NM
10 - 5% Si0, t-SE2 a3 0.09 NM
11 - 8 % Si0, t-2E2 &3 0.11 NM
12 - 10 % Si0, t-2E=2 a3 0.13 NM
13 - 12 % Si0, t-S2E=2 &3 0.15 NM
14 - 5% (Si04CB) |t-HE2 "s3 NM 0.065
15 - 5% (Si0.4CB) |[t-2ES "RE3 NM 0.05
16 - 5% (Si0A4CB) |t-BE= "E3 NM 0.085
17 - 5% (Si0.+CB) |[t-FES REE NM 0.09
18 - 5% (Si04CB) |t-HE2 "s3 NM 0.10
19 - 5% (Si0.4CB) |[t-2ES "RE3 NM 0.05
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